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First Modifications

1.2
Abbreviations

Abbreviations used in the present document are listed in 3GPP TR 21.905. In addition to abbreviations in 3GPP TR 21.905 the following abbreviations apply:
BTTI
Basic Transmission Time Interval
eTFI
Extended Temporary Flow Identity
FANR
Fast Ack/Nack Reporting
PAN
Piggy-backed Ack/Nack

PANI
Piggy-backed Ack/Nack Indicator

RTTI
Reduced Transmission Time Interval

TFI
Temporary Flow Identity

TTI
Transmission Time Interval

Next Modifications (MCS-0 DL)

5.1.4a.1.1
Block constitution

The message delivered to the encoder has a fixed size of 207 information bits {d(0),d(1),...,d(206)}. It is delivered on a burst mode.
The message delivered to the encoder will have a fixed size of 210 information bits {d(0),d(1),...,d(209)}, if an eTFI field is included (see 3GPP TS 44.060). 
5.1.4a.1.2
USF precoding

Twelve bits u’(0),u’(1),...,u’(11) are generated as described for MCS-1 DL in subclause 5.1.5.1.2.2.
5.1.4a.1.3
Data coding

a)
Parity bits:


Eighteen data parity bits p(0),p(1),...,p(17) are defined in such a way that in GF(2) the binary polynomial:

d(31)D193 +...+ d(206)D18 + p(0)D17 +...+ p(17), when divided by:

D18 + D17 + D14 + D13 + D11 + D10 + D8 + D7 + D6 + D3 + D2 + 1, yields a remainder equal to:

D17 + D16 + D15 + D14 + D13 + D12 + D11 + D10 + D9 + D8 + D7 + D6 + D5 + D4 + D3 + D2 + D + 1.
In case an eTFI field (see 3GPP TS 44.060) is included the three bits {d(207),d(208),d(209} are added bit-wise modulo 2 to the last three parity bits {p(15), p(16),p(17)}. This results in eighteen modified parity bits {pt(0),…,pt(17)} defined as:

pt(k) = p(k)




for k=0,…,14
pt(k) = d(k+192) + p(k)

for k=15,…,17

b)
Tail bits:


Six tail bits equal to 0 are added to the information bits, the result being a block of 182 bits 
{u(0),u(1),...,u(181)}:

u(k)
= d(k+31)

for k = 0,1,...,175

u(k)
= 0



for k = 176,177,…,181 (tail bits)

c)
Convolutional encoder


This block of 182 bits {u(0),u(1),...,u(181)} is encoded with the 1/3 rate convolutional mother code defined by the polynomials:

G4 = 1 + D2 + D3 + D5 + D6

G7 = 1 + D + D2 + D3 + D6

G5 = 1 + D + D4 + D6

This results in a block of 546 coded bits: {C(0),C(1),...,C(545)} defined by:

C(3k)     = u(k) + u(k‑2) + u(k‑3) + u(k‑5) + u(k‑6)

C(3k+1) = u(k) + u(k‑1) + u(k‑2) + u(k‑3) + u(k‑6)

C(3k+2) = u(k) + u(k‑1) + u(k-4) + u(k-6)     for k = 0,1,...,181; u(k) = 0 for k < 0


The code is punctured in such a way that the following coded bits are not transmitted:

	{C(2+3j) for j = 0,1,...,181} are not transmitted except {C(k) for k = 35, 104, 173, 242, 308, 377, 446, 515} which are transmitted


The result is a block of 372 coded bits, {dc(0),dc(1),...,dc(371)}.

5.1.4a.1.4
Header coding

The header bits {d(3),d(4),...,d(30)} shall be coded as for Packet data block type 5 (MCS-1) in subclause 5.1.5.1.3.

Before coding {d(8)..d(23)} is replaced by {p(0),..,p(15) and {d(29),d(30)} is replaced by {p(16),p(17)}, where {p (0),..,p(17)} is defined in 5.1.4a.1.3.

In case an eTFI field is included p(0),…,p(17) is replaced by pt(0),…pt(17) defined in 5.1.4a.1.3.
The result is a block of 68 coded bits, {hc(0),hc(1),...,hc(67)}.

5.1.4a.1.5
Interleaving

The interleaving is done as specified for MCS-1 DL in subclause 5.1.5.1.5.

5.1.4a.1.6
Mapping on a burst

The mapping is done as specified for MCS-1 DL in subclause 5.1.5.1.6.2.

Next Modifications (MCS-1 DL)
5.1.5.1.1
Block constitution

The message delivered to the encoder has a fixed size of 209 information bits {d(0),d(1),...,d(208)}. It is delivered on a burst mode.
The message delivered to the encoder will have a fixed size of 212 information bits {d(0),d(1),...,d(211)}, if an eTFI field is included (see 3GPP TS 44.060). 
The message delivered to the encoder will have a fixed size of 234 information bits {d(0),d(1),...,d(233)}, if a PAN field is included (see 3GPP TS 44.060).
The message delivered to the encoder will have a fixed size of 237 information bits {d(0),d(1),...,d(236)}, if a PAN field and an eTFI field are included (see 3GPP TS 44.060).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

Next Modifications (MCS-1 DL)

5.1.5.1.3
Header coding

a)
Parity bits:


Eight header parity bits p(0),p(1),...,p(7) are defined in such a way that in GF(2) the binary polynomial:

d(3)D35 +...+ d(30)D8 + p(0)D7 +...+ p(7), when divided by:

D8 + D6 + D3 + 1, yields a remainder equal to:

D7 + D6 + D5 + D4 + D3 + D2 + D + 1.
In case an eTFI field (see 3GPP TS 44.060) is included and a PAN field is not the three bits {d(209),d(210),d(211)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)}. This results in the eight modified header parity bits {pt(0),…,pt(7)} defined as:

pt(k) = p(k)




for k=0,…,4

pt(k) = d(k+204) + p(k)

for k=5,…,7
In case an eTFI field (see 3GPP TS 44.060) and a PAN field are included the three bits {d(234),d(235),d(236)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)}. This results in the eight modified header parity bits {pt(0),…,pt(7)} defined as:
pt(k) = p(k)




for k=0,…,4

pt(k) = d(k+229) + p(k)

for k=5,…,7
b)
Tail biting:


The six last header parity bits are added before information and parity bits, the result being a block of 42 bits {u”(‑6),…,u”(0),u”(1),...,u”(35)} with six negative indexes. In case an eTFI field is not included this operation is defined as:
u”(k-6)
= p(k+2)

for k = 0,1,...,5

u”(k)

= d(k+3)

for k = 0,1,...,27

u”(k)

= p(k‑28)

for k = 28,29,...,35

In case an eTFI field is included p(k) is replaced by pt(k) in the above operation.
c)
Convolutional encoder


This block of 42 bits {u”(-6),…,u”(0),u”(1),...,u”(35)} is encoded with the 1/3 rate convolutional mother code defined by the polynomials:

G4 = 1 + D2 + D3 + D5 + D6

G7 = 1 + D + D2 + D3 + D6

G5 = 1 + D + D4 + D6

This results in a block of 108 coded bits: {C(0),C(1),...,C(107)} defined by:

C(3k)     = u”(k) + u”(k‑2) + u”(k‑3) + u”(k‑5) + u”(k‑6)

C(3k+1) = u”(k) + u”(k‑1) + u”(k‑2) + u”(k‑3) + u”(k‑6)

C(3k+2) = u”(k) + u”(k‑1) + u”(k-4) + u”(k-6)     for k = 0,1,...,35


The code is punctured in such a way that the following coded bits:

{C(2+3j) for j = 0,1,...,35} as well as {C(k) for k = 34,58,82,106} are not transmitted


The result is a block of 68 coded bits, {hc(0),hc(1),...,hc(67)}.

Next Modifications (MCS-1 UL)

5.1.5.2.1
Block constitution 
The block constitution is the same as for MCS-1 DL specified in subclause 5.1.5.1.1, with the exception that an eTFI field can only be included in combination with a PAN field, see sub-clause 5.1.5.2.3a.



Next Modifications (MCS-1 UL)
5.1.5.2.3a
Piggy-backed Ack/Nack coding

If a PAN field is included and an eTFI field is not included, the PAN coding is the same as for the downlink as specified in subclause 5.1.5.1.4a.

If a PAN field and an eTFI field are included, the PAN coding is the same as for the downlink as specified in subclause 5.1.5.1.4a, with the addition that the five bits {d(229),d(230),d(231),d(232),d(233)} (TFI value or 00000, see 3GPP TS 44.060) and the three bits {d(234),d(235),d(236)} (eTFI value or 000, see 3GPP TS 44.060) are added bit-wise modulo 2 to the PAN parity bits {p(2),p(3),p(4),p(5),p(6),p(7),p(8),p(9)} resulting in the ten modified PAN parity bits defined as: 

pt(k) = p(k)




for k=0,…,1
pt(k) = d(k+232) + p(k)

for k=2,…,4
pt(k) = d(k+224) + p(k)

for k=5,…,9
Next Modifications (MCS-2 DL)

5.1.6.1.1
Block constitution

The message delivered to the encoder has a fixed size of 257 information bits {d(0),d(1),...,d(256)}. It is delivered on a burst mode.
The message delivered to the encoder will have a fixed size of 260 information bits {d(0),d(1),...,d(259)}, if an eTFI field is included (see 3GPP TS 44.060). 
The message delivered to the encoder will have a fixed size of 282 information bits {d(0),d(1),...,d(281)} if a PAN field is included.
The message delivered to the encoder will have a fixed size of 285 information bits {d(0),d(1),...,d(284)}, if a PAN field and an eTFI field are included (see 3GPP TS 44.060).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

Next Modifications (MCS-2 DL)

5.1.6.1.3
Header coding

A block of 68 coded bits {hc(0),hc(1),...,hc(67)} is derived from {d(3),d(4),…,d(30)} as described for MCS-1 DL in subclause 5.1.5.1.3, with the exception that eTFI field bits are now located in {d(257),d(258),d(259)} if included when PAN is not included, and located in {d(282),d(283),d(284)} if included in combination with a PAN field .

Next Modifications (MCS-2 UL)

5.1.6.2.1
Block constitution

The block constitution is the same as for MCS-2 DL specified in subclause 5.1.6.1.1, with the exception that an eTFI field can only be included in combination with a PAN field, see sub-clause 5.1.6.2.3a.



Next Modifications (MCS-2 UL)

5.1.6.2.3a
Piggy-backed Ack/Nack coding

If a PAN field is included and an eTFI field is not included, its coding is the same as for downlink as specified in subclause 5.1.6.1.4a.

If a PAN field and an eTFI field are included, the coding of these fields are the same as for the downlink as specified in subclause 5.1.6.1.4a, with the addition that the TFI and eTFI values being added bit-wise modulo 2 to the last eight PAN parity bits as specified in subclause 5.1.5.2.3a.
Next Modifications (MCS-3 DL)

5.1.7.1.1
Block constitution

The message delivered to the encoder has a fixed size of 329 information bits {d(0),d(1),...,d(328)}. It is delivered on a burst mode.
The message delivered to the encoder will have a fixed size of 332 information bits {d(0),d(1),...,d(331)}, if an eTFI field is included (see 3GPP TS 44.060). 
The message delivered to the encoder will have a fixed size of 354 information bits {d(0),d(1),...,d(353)} if a PAN field is included.
The message delivered to the encoder will have a fixed size of 357 information bits {d(0),d(1),...,d(356)}, if a PAN field and an eTFI field are included (see 3GPP TS 44.060).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

Next Modifications (MCS-3 DL)

5.1.7.1.3
Header coding

A block of 68 coded bits {hc(0),hc(1),...,hc(67)} is derived from {d(3),d(4),…,d(30)} as described for MCS-1 DL in subclause 5.1.5.1.3, with the exception that eTFI field bits are now located in {d(329),d(330),d(331)} if included when PAN is not included, and located in {d(354),d(355),d(356)} if included in combination with a PAN field.

Next Modifications (MCS-3 UL)

5.1.7.2.1
Block constitution

The block constitution is the same as for MCS-3 DL specified in subclause 5.1.7.1.1, with the exception that an eTFI field can only be included in combination with a PAN field, see sub-clause 5.1.7.2.3a.



Next Modifications (MCS-3 UL)

5.1.7.2.3a
Piggy-backed Ack/Nack coding

If a PAN field is included and an eTFI field is not included, its coding is the same as for downlink as specified in subclause 5.1.7.1.4a.
If a PAN field and an eTFI field are included, the coding of theses fields are the same as for the downlink as specified in subclause 5.1.7.1.4a, with the addition that the TFI and eTFI values being added bit-wise modulo 2 to the last eight PAN parity bits as specified in subclause 5.1.5.2.3a.
Next Modifications (MCS-4 DL)

5.1.8.1.1
Block constitution

The message delivered to the encoder has a fixed size of 385 information bits {d(0),d(1),...,d(384)}. It is delivered on a burst mode.

The message delivered to the encoder will have a fixed size of 388 information bits {d(0),d(1),...,d(387)}, if an eTFI field is included (see 3GPP TS 44.060). 
Next Modifications (MCS-4 DL)

5.1.8.1.3
Header coding

A block of 68 coded bits {hc(0),hc(1),...,hc(67)} is derived from {d(3),d(4),…,d(30)} as described for MCS-1 DL in subclause 5.1.5.1.3, with the exception that eTFI field bits are now located in {d(385),d(386),d(387)} if included.

Next Modifications (MCS-5 DL)

5.1.9.1.1
Block constitution

The message delivered to the encoder has a fixed size of 478 information bits {d(0),d(1),...,d(477)}. It is delivered on a burst mode.

The message delivered to the encoder will have a fixed size of 481 information bits {d(0),d(1),...,d(480)}, if an eTFI field is included (see 3GPP TS 44.060). 
The message delivered to the encoder will have a fixed size of 503 information bits {d(0),d(1),...,d(502)} if a PAN field is included.

The message delivered to the encoder will have a fixed size of 506 information bits {d(0),d(1),...,d(505)}, if a PAN field and an eTFI field are included (see 3GPP TS 44.060).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).
Next Modifications (MCS-5 DL)

5.1.9.1.3
Header coding

a)
Parity bits:


Eight header parity bits p(0),p(1),...,p(7) are defined in such a way that in GF(2) the binary polynomial:

d(3)D32 +...+ d(27)D8 + p(0)D7 +...+ p(7), when divided by:

D8 + D6 + D3 + 1, yields a remainder equal to:

D7 + D6 + D5 + D4 + D3 + D2 + D + 1.
In case an eTFI field (see 3GPP TS 44.060) is included and a PAN field is not included the three bits {d(478),d(479),d(480)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)}. In case an eTFI field and a PAN field are included the three bits {d(503),d(504),d(505)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)}. This result in eight modified header parity bits {pt(0),…,pt(7)} as specified in subclause 5.1.5.1.3.
b)
Tail biting:


The six last header parity bits are added before information and parity bits, the result being a block of 39 bits {u”(‑6),…,u”(0),u”(1),...,u”(32)} with six negative indexes. In case an eTFI field is not included this operation is defined as:

u”(k-6)
= p(k+2)

for k = 0,1,...,5

u”(k)

= d(k+3)

for k = 0,1,...,24

u”(k)

= p(k‑25)
for k = 25,26,...,32
In case an eTFI field is included p(k) is replaced by pt(k) in the above operation.
c)
Convolutional encoder


This block of 39 bits {u”(-6),…,u”(0),u”(1),...,u”(32)} is encoded with the 1/3 rate convolutional mother code defined by the polynomials:

G4 = 1 + D2 + D3 + D5 + D6

G7 = 1 + D + D2 + D3 + D6

G5 = 1 + D + D4 + D6

This results in a block of 99 coded bits: {C(0),C(1),...,C(98)} defined by:

C(3k)     = u”(k) + u”(k‑2) + u”(k‑3) + u”(k‑5) + u”(k‑6)

C(3k+1) = u”(k) + u”(k‑1) + u”(k‑2) + u”(k‑3) + u”(k‑6)

C(3k+2) = u”(k) + u”(k‑1) + u”(k‑4) + u”(k‑6)     for k = 0,1,...,32


A spare bit is added at the end of this block:

hc(k) = C(k) for k = 0,1,…,98

hc(99) = C(98)


The result is a block of 100 coded bits, {hc(0),hc(1),...,hc(99)}.

Next Modifications (MCS-5 UL)

5.1.9.2.1
Block constitution

The message delivered to the encoder has a fixed size of 487 information bits {d(0),d(1),...,d(486)}. It is delivered on a burst mode.
The message delivered to the encoder will have a fixed size of 512 information bits {d(0),d(1),...,d(511)} if a PAN field is included (see 3GPP TS 44.060).
The message delivered to the encoder will have a fixed size of 515 information bits {d(0),d(1),...,d(514)}, if a PAN field and an eTFI field are included (see 3GPP TS 44.060).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

Next Modifications (MCS-5 UL)

5.1.9.2.3a
Piggy-backed Ack/Nack coding


If a PAN field is included and an eTFI field is not included, the coding of the PAN field is the same as for the downlink as specified in subclause 5.1.9.1.4a where bits {d(478), d(479),...,d(502)} are replaced by bits {d(487), d(488),...,d(511)}.
If a PAN field and an eTFI field are included, the PAN coding is the same as for the downlink as specified in sub-clause 5.1.9.1.4a, with the exception that the five bits {d(507),d(508),d(509),d(510),d(511)} (TFI value or 00000, see 3GPP TS 44.060) and the three bits {d(512),d(513),d(514)} (eTFI value or 000, see 3GPP TS 44.060) are added bit-wise modulo 2 to the PAN parity bits {p(2),p(3),p(4),p(5),p(6),p(7),p(8),p(9)} resulting in the ten modified PAN parity bits defined as: 

pt(k) = p(k)




for k=0,…,1
pt(k) = d(k+510) + p(k)

for k=2,…,4

pt(k) = d(k+502) + p(k)

for k=5,…,9
The data coded bits {pc(0),pc(1),...,pc(1171)} are appended to the PAN coded bits as described for the downlink in subclause 5.1.9.1.4a. The result is a block of 1248 coded bits {dc(0),dc(1),...,dc(1247)}.

Next Modifications (MCS-6 DL)

5.1.10.1.1
Block constitution

The message delivered to the encoder has a fixed size of 622 information bits {d(0),d(1),...,d(621)}. It is delivered on a burst mode.
The message delivered to the encoder will have a fixed size of 625 information bits {d(0),d(1),...,d(624)}, if an eTFI field is included (see 3GPP TS 44.060). 
The message delivered to the encoder will have a fixed size of 647 information bits {d(0),d(1),...,d(646)} if a PAN field is included.
The message delivered to the encoder will have a fixed size of 650 information bits {d(0),d(1),...,d(649)}, if a PAN field and an eTFI field are included (see 3GPP TS 44.060).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

Next Modifications (MCS-6 DL)

5.1.10.1.3
Header coding

A block of 100 coded bits {hc(0),hc(1),...,hc(99)} is derived from {d(3),d(4),…,d(27)} as described for MCS-5 DL in subclause 5.1.9.1.3, with the exception that eTFI field bits are now located in {d(622),d(623),d(624)} if included when PAN is not included, and located in {d(647),d(648),d(649)} if included in combination with a PAN field.
Next Modifications (MCS-6 UL)

5.1.10.2.1
Block constitution

The message delivered to the encoder has a fixed size of 631 information bits {d(0),d(1),...,d(630)}. It is delivered on a burst mode.

The message delivered to the encoder will have a fixed size of 656 information bits {d(0),d(1),...,d(655)} if a PAN field is included (see 3GPP TS 44.060).

The message delivered to the encoder will have a fixed size of 659 information bits {d(0),d(1),...,d(658)}, if a PAN field and an eTFI field are included (see 3GPP TS 44.060).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).
Next Modifications (MCS-6 UL)

5.1.10.2.3a
Piggy-backed Ack/Nack coding


If a PAN field is included and an eTFI field is not included, the coding of the PAN field is the same as for the MCS-5 DL as specified in subclause 5.1.9.1.4a where bits {d(478), d(479),...,d(502)} are replaced by bits {d(631),d(632),...,d(655)}.

If a PAN field and an eTFI field are included, the PAN coding is the same as for the downlink as specified in sub-clause 5.1.10.1.4a, with the exception that the five bits {d(651),d(652),d(653),d(654),d(655)} (TFI value or 00000, see 3GPP TS 44.060) and the three bits {d(656),d(657),d(658)} (eTFI value or 000, see 3GPP TS 44.060) are added bit-wise modulo 2 to the PAN parity bits {p(2),p(3),p(4),p(5),p(6),p(7),p(8),p(9)} resulting in the ten modified PAN parity bits defined as: 

pt(k) = p(k)




for k=0,…,1
pt(k) = d(k+654) + p(k)

for k=2,…,4

pt(k) = d(k+646) + p(k)

for k=5,…,9
The data coded bits {pc(0),pc(1),...,pc(1171)} are appended to the PAN coded bits as described for the downlink in subclause 5.1.9.1.4a. The result is a block of 1248 coded bits {dc(0),dc(1),...,dc(1247)}.

Next Modifications (MCS-7 DL)

5.1.11.1.1
Block constitution

The message delivered to the encoder has a fixed size of 940 information bits {d(0),d(1),...,d(939)}. It is delivered on a burst mode.

The message delivered to the encoder will have a fixed size of 943 information bits {d(0),d(1),...,d(942)}, if an eTFI field is included (see 3GPP TS 44.060). 
The message delivered to the encoder will have a fixed size of 965 information bits {d(0),d(1),...,d(964)} if a PAN field is included.

The message delivered to the encoder will have a fixed size of 968 information bits {d(0),d(1),...,d(967)}, if a PAN field and an eTFI field are included (see 3GPP TS 44.060).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

Next Modifications (MCS-7 DL)

5.1.11.1.3
Header coding

a)
Parity bits:


Eight header parity bits p(0),p(1),...,p(7) are defined in such a way that in GF(2) the binary polynomial:

d(3)D44 +...+ d(39)D8 + p(0)D7 +...+ p(7), when divided by:

D8 + D6 + D3 + 1, yields a remainder equal to:

D7 + D6 + D5 + D4 + D3 + D2 + D + 1.

In case an eTFI field (see 3GPP TS 44.060) is included and a PAN field is not included the three bits {d(940),d(941),d(942)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)}. In case an eTFI field and a PAN field are included the three bits {d(965),d(966),d967)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)}. This result in eight modified header parity bits {pt(0),…,pt(7)} as specified in subclause 5.1.5.1.3.
b)
Tail biting:


The six last header parity bits are added before information and parity bits, the result being a block of 51 bits {u”(‑6),…,u”(0),u”(1),...,u”(44)} with six negative indexes. In case an eTFI field is not included this operation is defined as:

u”(k-6)
= p(k+2)

for k = 0,1,...,5

u”(k)

= d(k+3)

for k = 0,1,...,36

u”(k)

= p(k‑37)
for k = 37,38,...,44
In case an eTFI field is included p(k) is replaced by pt(k) in the above operation.
c)
Convolutional encoder


This block of 51 bits {u”(-6),…,u”(0),u”(1),...,u”(44)} is encoded with the 1/3 rate convolutional mother code defined by the polynomials:

G4 = 1 + D2 + D3 + D5 + D6

G7 = 1 + D + D2 + D3 + D6

G5 = 1 + D + D4 + D6

This results in a block of 135 coded bits: {C(0),C(1),...,C(134)} defined by:

C(3k)     = u”(k) + u”(k‑2) + u”(k‑3) + u”(k‑5) + u”(k‑6)

C(3k+1) = u”(k) + u”(k‑1) + u”(k‑2) + u”(k‑3) + u”(k‑6)

C(3k+2) = u”(k) + u”(k‑1) + u”(k-4) + u”(k-6)     for k = 0,1,...,44


The code is punctured in such a way that the following coded bits:

{C(k) for k = 14,23,33,50,59,69,86,95,105,122,131} are not transmitted


The result is a block of 124 coded bits, {hc(0),hc(1),...,hc(123)}.

Next Modifications (MCS-7 UL)

5.1.11.2.1
Block constitution

The message delivered to the encoder has a fixed size of 946 information bits {d(0),d(1),...,d(945)}. It is delivered on a burst mode.

The message delivered to the encoder will have a fixed size of 971 information bits {d(0),d(1),...,d(970)} if a PAN field is included (see 3GPP TS 44.060).

The message delivered to the encoder will have a fixed size of 974 information bits {d(0),d(1),...,d(973)}, if a PAN field and an eTFI field are included (see 3GPP TS 44.060).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

Next Modifications (MCS-7 UL)

5.1.11.2.3a
Piggy-backed Ack/Nack coding


If a PAN field is included and an eTFI field is not included, the coding of the PAN field is the same as for the downlink as specified in subclause 5.1.11.1.4a where bits {d(940), d(941),...,d(964)} are replaced by bits {d(946),d(947),...,d(970)}.

If a PAN field and an eTFI field are included, the PAN coding is the same as for the downlink as specified in sub-clause 5.1.11.1.4a, with the exception that the five bits {d(966),d(967),d(968),d(969),d(970)} (TFI value or 00000, see 3GPP TS 44.060) and the three bits {d(971),d(972),d(973)} (eTFI value or 000, see 3GPP TS 44.060) are added bit-wise modulo 2 to the PAN parity bits {p(2),p(3),p(4),p(5),p(6),p(7),p(8),p(9)} resulting in the ten modified PAN parity bits defined as: 

pt(k) = p(k)




for k=0,…,1
pt(k) = d(k+969) + p(k)

for k=2,…,4

pt(k) = d(k+961) + p(k)

for k=5,…,9
The data coded bits {pc1(0),pc1(1),...,pc1(575)} and {pc2(0),pc2(1),...,pc2(575)} are appended to the PAN coded bits as described for the downlink in subclause 5.1.11.1.4a. The result is two blocks of 612 coded bits {c1(0),c1(1),...,c1(611)} and {c2(0),c2(1),...,c2(611)}.

Next Modifications (MCS-8 DL)

5.1.12.1.1
Block constitution

The message delivered to the encoder has a fixed size of 1132 information bits {d(0),d(1),...,d(1131)}. It is delivered on a burst mode.

The message delivered to the encoder will have a fixed size of 1135 information bits {d(0),d(1),...,d(1134)}, if an eTFI field is included (see 3GPP TS 44.060). 
The message delivered to the encoder will have a fixed size of 1157 information bits {d(0),d(1),...,d(1156)} if a PAN field is included.

The message delivered to the encoder will have a fixed size of 1160 information bits {d(0),d(1),...,d(1159)}, if a PAN field and an eTFI field are included (see 3GPP TS 44.060).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

Next Modifications (MCS-8 DL)

5.1.12.1.3
Header coding

A block of 124 coded bits {hc(0),hc(1),...,hc(123)} is derived from {d(3),d(4),…,d(39)} as described for MCS-7 DL in subclause 5.1.11.1.3, with the exception that eTFI field bits are now located in {d(1132),d(1133),d(1134)} if included and PAN is not included, and located in {d(1157),d(1158),d(1159)} if included in combination with a PAN field.

Next Modifications (MCS-8 UL)

5.1.12.2.1
Block constitution

The message delivered to the encoder has a fixed size of 1138 information bits {d(0),d(1),...,d(1137)}. It is delivered on a burst mode.

The message delivered to the encoder will have a fixed size of 1163 information bits {d(0),d(1),...,d(1162)} if a PAN field is included (see 3GPP TS 44.060).

The message delivered to the encoder will have a fixed size of 1166 information bits {d(0),d(1),...,d(1165)}, if a PAN field and an eTFI field are included (see 3GPP TS 44.060).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).
Next Modifications (MCS-8 UL)

5.1.12.2.3a
Piggy-backed Ack/Nack coding


If a PAN field is included and an eTFI field is not included, the coding of the PAN field is the same as for the MCS-8 DL as specified in subclause 5.1.12.1.4a where bits {d(1132), d(1133),...,d(1156)} are replaced by bits {d(1138),d(1139),...,d(1162)}.
If a PAN field and an eTFI field are included, the PAN coding is the same as for the downlink as specified in sub-clause 5.1.12.1.4a, with the exception that the five bits {d(1158),d(1159),d(1160),d(1161),d(1162)} (TFI value or 00000, see 3GPP TS 44.060) and the three bits {d(1163),d(1164),d(1165)} (eTFI value or 000, see 3GPP TS 44.060) are added bit-wise modulo 2 to the PAN parity bits {p(2),p(3),p(4),p(5),p(6),p(7),p(8),p(9)} resulting in the ten modified PAN parity bits defined as: 

pt(k) = p(k)




for k=0,…,1
pt(k) = d(k+1161) + p(k)
for k=2,…,4

pt(k) = d(k+1153) + p(k)
for k=5,…,9
The data coded bits {pc1(0),pc1(1),...,pc1(575)} and {pc2(0),pc2(1),...,pc2(575)} are appended to the PAN coded bits as described for MCS-8 DL in subclause 5.1.12.1.4a. The result is two blocks of 612 coded bits {c1(0),c1(1),...,c1(611)} and {c2(0),c2(1),...,c2(611)}.
Next Modifications (MCS-9 DL)

5.1.13.1.1
Block constitution

The message delivered to the encoder has a fixed size of 1228 information bits {d(0),d(1),...,d(1227)}. It is delivered on a burst mode.
The message delivered to the encoder will have a fixed size of 1231 information bits {d(0),d(1),...,d(1230)}, if an eTFI field is included (see 3GPP TS 44.060). 
Next Modifications (MCS-9 DL)

5.1.13.1.3
Header coding

A block of 124 coded bits {hc(0),hc(1),...,hc(123)} is derived from {d(3),d(4),…,d(39)} as described for MCS-7 DL in subclause 5.1.11.1.3, with the exception that eTFI field bits are now located in {d(1228),d(1229),d(1230)} if included. 
Next Modifications (EGPRS2-A Header)

5.1a.1.1
Header

a) Parity bits

Given a block of N bits, {h(0),…,h(N-1)}, eight header parity bits {p(0),p(1),...,p(7)} are defined in such a way that in GF(2) the binary polynomial:

h(0)D8+N-1 +...+ h(N-1)D8 + p(0)D7 +...+ p(7), when divided by:

D8 + D6 + D3 + 1, yields a remainder equal to:

D7 + D6 + D5 + D4 + D3 + D2 + D + 1.

In case an eTFI field (see 3GPP TS 44.060) is included the three eTFI bits {et(0),et(1),et(2)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)}. This results in the eight modified header parity bits {pt(0),…,pt(7)} defined as:

pt(k) = p(k)



or k=0,…,4

pt(k) = et(k-5) + p(k)

for k=5,…,7
The parity bits are added after the block of N bits, the result being a block of N+8 bits, {b(0),…,b(N+7)}, in case an eTFI field is not included, defined as:
b(k)

= h(k)


for k = 0,1,...,N-1

b(k)

= p(k‑N)

for k = N,...,N+7
In case an eTFI field is included, p(k) is replaced by pt(k) in the above operation.
b) Tail-biting convolutional encoder

Given the block of N+8 bits, {b(0),…,b(N+7)}, the six last bits are added before the block of N+8 bits, the result being a block of N+14 bits {c(‑6),…,c(0),c(1),...,c(N+7)} with six negative indexes:

c(k)

= b(N+8+k)
for k = -6,...,-1

c(k)

= b(k)


for k = 0,1,...,N+7


This block of N+14 bits {c(-6),…,c(0),c(1),...,c(N+7)} is encoded with the 1/3 rate convolutional mother code defined by the polynomials:

G4 = 1 + D2 + D3 + D5 + D6

G7 = 1 + D + D2 + D3 + D6

G5 = 1 + D + D4 + D6

This results in a block of 3(N+8) coded bits {C(0),...,C(3(N+8)-1)} defined by:

C(3k)     = c(k) + c(k‑2) + c(k‑3) + c(k‑5) + c(k‑6)

C(3k+1) = c(k) + c(k‑1) + c(k‑2) + c(k‑3) + c(k‑6)

C(3k+2) = c(k) + c(k‑1) + c(k‑4) + c(k‑6)     for k = 0,1,...,N+7

Next Modifications (EGPRS2-A PAN)

5.1a.1.4
PAN

a) Parity bits

Given a block of 25 bits, {pn(0),…,pn(24)}, ten PAN parity bits {p(0),p(1),...,p(9)} are defined in such a way that in GF(2) the binary polynomial:
pn(0)D29 +...+ pn(19)D10 + p(0)D9 +...+ p(9), when divided by:

D10 + D9 + D5 + D4 + D + 1, yields a remainder equal to:

D9 + D8 + D7 + D6 + D5 + D4 + D3 + D2 + D + 1.

The five last bits of the PAN, {pn(20),…,pn(24)}, are added bit-wise modulo 2 to the 5 last parity bits {p(5),…,p(9)}. In case an eTFI field is included, the three eTFI bits {et(0),et(l),et(2)} are added bit-wise modulo 2 to the parity bits {p(2),p(3),p(4)}.

The modified parity bits are added after the block of 20 bits, the result being a block of 30 bits, {b(0),…,b(29)}, incase the eTFI field is included, defined as:
b(k)

= pn(k)




for k = 0,...,19

b(k)

= p(k‑20)




for k = 20,...,21

b(k)

= p(k‑20) + et(k-22)

for k = 22,...,24

b(k)

= p(k-20) + pn(k-5)

for k = 25,…,29
And incase the eTFI field is not included, defined as:
b(k)

= pn(k)




for k = 0,...,19

b(k)

= p(k‑20)




for k = 20,...,24
b(k)

= p(k-20) + pn(k-5)

for k = 25,…,29
b) Tail-biting convolutional encoder

The six last bits are added before the block of 30 bits, the result being a block of 36 bits {c(‑6),…,c(0),c(1),...,c(29)} with six negative indices:

c(k)

= b(30+k)

for k = -6,...,-1

c(k)

= b(k)


for k = 0,1,...,29

This block of 36 bits is encoded with the 1/3 rate convolutional mother code defined by the polynomials:

G4 = 1 + D2 + D3 + D5 + D6

G7 = 1 + D + D2 + D3 + D6

G5 = 1 + D + D4 + D6
This results in a block of 90 coded bits {C(0),...,C(89)} defined by:

C(3k)     = c(k) + c(k‑2) + c(k‑3) + c(k‑5) + c(k‑6)

C(3k+1) = c(k) + c(k‑1) + c(k‑2) + c(k‑3) + c(k‑6)

C(3k+2) = c(k) + c(k‑1) + c(k‑4) + c(k‑6)     for k = 0,1,...,29

Next Modifications (UAS-7)

5.1a.3.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 941 information bits {d(0),d(1),...,d(940)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 966 information bits {d(0),d(1),...,d(965). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 969 information bits {d(0),d(1),...,d(968).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,40

i1(k-41) = d(k)

for k = 41,...,490

i2(k-491) = d(k)

for k = 491,...,940
And if a PAN is included:

pn(k-941) = d(k)

for k = 941,...,965
And if a PAN and an eTFI are included:

et(k-966) = d(k)

for k = 966,...,968
Next Modifications (UAS-8)

5.1a.4.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1069 information bits {d(0),d(1),...,d(1068)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1094 information bits {d(0),d(1),...,d(1093). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 1097 information bits {d(0),d(1),...,d(1096).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,40

i1(k-41) = d(k)

for k = 41,...,554

i2(k-555) = d(k)

for k = 555,...,1068
And if a PAN is included:

pn(k-1069) = d(k)
for k = 1069,...,1093

And if a PAN and an eTFI are included:

et(k-1094) = d(k)

for k = 1094,...,1096

Next Modifications (UAS-9)

5.1a.5.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1229 information bits {d(0),d(1),...,d(1228)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1254 information bits {d(0),d(1),...,d(1253). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 1257 information bits {d(0),d(1),...,d(1256).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,40

i1(k-41) = d(k)

for k = 41,...,634

i2(k-635) = d(k)

for k = 635,...,1228
And if a PAN is included:

pn(k-1229) = d(k)
for k = 1229,...,1253

And if a PAN and an eTFI are included:

et(k-1254) = d(k)

for k = 1254,...,1256
Next Modifications (UAS-10)

5.1a.6.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1402 information bits {d(0),d(1),...,d(1401)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1427 information bits {d(0),d(1),...,d(1426). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 1430 information bits {d(0),d(1),...,d(1429).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,51

i1(k-52) = d(k)

for k = 52,...,501

i2(k-502) = d(k)

for k = 502,...,951

i3(k-952) = d(k)

for k = 952,...,1401
And if a PAN is included:

pn(k-1402) = d(k)
for k = 1402,...,1426

And if a PAN and an eTFI are included:

et(k-1427) = d(k)

for k = 1427,...,1429
Next Modifications (UAS-11)

5.1a.7.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1594 information bits {d(0),d(1),...,d(1593)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1619 information bits {d(0),d(1),...,d(1618). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 1622 information bits {d(0),d(1),...,d(1621).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,51

i1(k-52) = d(k)

for k = 52,...,565

i2(k-566) = d(k)

for k = 566,...,1079

i3(k-1080) = d(k)

for k = 1080,...,1593
And if a PAN is included:

pn(k-1594) = d(k)
for k = 1594,...,1618

And if a PAN and an eTFI are included:

et(k-1619) = d(k)

for k = 1619,...,1621
Next Modifications (DAS-5)

5.1a.16.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 478 information bits {d(0),d(1),...,d(477)}. If the message delivered to the encoder does not include a PAN but includes an eTFI, it has a fixed size of 481 information bits {d(0),d(1),...,d(480). If the message delivered to the encoder includes a PAN but does not include an eTFI, it has a fixed size of 503 information bits {d(0),d(1),...,d(502). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 506 information bits {d(0),d(1),...,d(505).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).
Next Modifications (DAS-5)

5.1a.16.3
Header coding

A block of 100 coded bits {hc(0),hc(1),...,hc(99)} is derived from {d(3),d(4),…,d(27)} as described for MCS-5 DL in subclause 5.1.9.1.3. 
In case an eTFI field is included and a PAN field is not included the three bits {d(478),d(479),d(480)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)} as specified in subclause 5.1.9.1.3. In case an eTFI field and a PAN field are included the three bits {d(503),d(504),d(505)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)} as specified in subclause 5.1.9.1.3. 

Next Modifications (DAS-6)
5.1a.17.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 574 information bits {d(0),d(1),...,d(573)}. If the message delivered to the encoder does not include a PAN but includes an eTFI, it has a fixed size of 577 information bits {d(0),d(1),...,d(576). If the message delivered to the encoder includes a PAN but does not include an eTFI, it has a fixed size of 599 information bits {d(0),d(1),...,d(598). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 602 information bits {d(0),d(1),...,d(601).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

Next Modifications (DAS-6)

5.1a.17.3
Header coding

A block of 100 coded bits {hc(0),hc(1),...,hc(99)} is derived from {d(3),d(4),…,d(27)} as described for MCS-5 DL in subclause 5.1.9.1.3.

In case an eTFI field is included and a PAN field is not included the three bits {d(574),d(575),d(576)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)} as specified in subclause 5.1.9.1.3. In case an eTFI field and a PAN field are included the three bits {d(599),d(600),d(601)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)} as specified in subclause 5.1.9.1.3. 

Next Modifications (DAS-7)

5.1a.18.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 686 information bits {d(0),d(1),...,d(685)}. If the message delivered to the encoder does not include a PAN but includes an eTFI, it has a fixed size of 689 information bits {d(0),d(1),...,d(688).  If the message delivered to the encoder includes a PAN but does not include an eTFI, it has a fixed size of 711 information bits {d(0),d(1),...,d(710). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 714 information bits {d(0),d(1),...,d(713).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

Next Modifications (DAS-7)

5.1a.18.3
Header coding

A block of 100 coded bits {hc(0),hc(1),...,hc(99)} is derived from {d(3),d(4),…,d(27)} as described for MCS-5 DL in subclause 5.1.9.1.3.

In case an eTFI field is included and a PAN field is not included the three bits {d(686),d(687),d(688)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)} as specified in subclause 5.1.9.1.3. In case an eTFI field and a PAN field are included the three bits {d(711),d(712),d(713)} are added bit-wise modulo 2 to the last three parity bits {p(5), p(6),p(7)} as specified in subclause 5.1.9.1.3. 

Next Modifications (DAS-8)

5.1a.19.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 941 information bits {d(0),d(1),...,d(940)}. If the message delivered to the encoder does not include a PAN but includes an eTFI, it has a fixed size of 944 information bits {d(0),d(1),...,d(943).  If the message delivered to the encoder includes a PAN but does not include an eTFI, it has a fixed size of 966 information bits {d(0),d(1),...,d(965). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 969 information bits {d(0),d(1),...,d(968).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k-3) = d(k)


for k = 3,...,40

i1(k-41) = d(k)

for k = 41,...,490

i2(k-491) = d(k)

for k = 491,...,940
And if an eTFI is included: 
et(k-941) = d(k)

for k = 941,...,943
And if a PAN is included:

pn(k-941) = d(k)

for k = 941,...,965

And if a PAN and an eTFI are included:

et(k-966) = d(k)

for k = 966,...,968
Next Modifications (DAS-9)

5.1a.20.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1133 information bits {d(0),d(1),...,d(1132)}. If the message delivered to the encoder does not include a PAN but includes an eTFI, it has a fixed size of 1136 information bits {d(0),d(1),...,d(1135).  If the message delivered to the encoder includes a PAN but does not include an eTFI, it has a fixed size of 1158 information bits {d(0),d(1),...,d(1157). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 1161 information bits {d(0),d(1),...,d(1160).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k-3) = d(k)


for k = 3,...,40

i1(k-41) = d(k)

for k = 41,...,586

i2(k-587) = d(k)

for k = 587,...,1132
And if an eTFI is included:

et(k-1133) = d(k)

for k = 1133,...,1135
And if a PAN is included:

pn(k-1133) = d(k)

for k = 1133,...,1157

And if a PAN and an eTFI are included:

et(k-1158) = d(k)


for k = 1158,...,1160
Next Modifications (DAS-10)

5.1a.21.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1355 information bits {d(0),d(1),...,d(1354)}. If the message delivered to the encoder does not include a PAN but includes an eTFI, it has a fixed size of 1358 information bits {d(0),d(1),...,d(1357).  If the message delivered to the encoder includes a PAN but does not include an eTFI, it has a fixed size of 1380 information bits {d(0),d(1),...,d(1379). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 1383 information bits {d(0),d(1),...,d(1382).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k-3) = d(k)


for k = 3,...,38

i1(k-39) = d(k)

for k = 39,...,696

i2(k-697) = d(k)

for k = 697,...,1354
And if an eTFI is included:

et(k-1355) = d(k)

for k = 1355,...,1357
And if a PAN is included:

pn(k-1355) = d(k)

for k = 1355,...,1379

And if a PAN and an eTFI are included:

et(k-1380) = d(k)


for k = 1380,...,1382
Next Modifications (DAS-11)

5.1a.22.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1691 information bits {d(0),d(1),...,d(1690)}. If the message delivered to the encoder does not include a PAN but includes an eTFI, it has a fixed size of 1694 information bits {d(0),d(1),...,d(1693).  If the message delivered to the encoder includes a PAN but does not include an eTFI, it has a fixed size of 1716 information bits {d(0),d(1),...,d(1715). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 1719 information bits {d(0),d(1),...,d(1718).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k-3) = d(k)


for k = 3,...,52

i1(k-53) = d(k)

for k = 53,...,598

i2(k-599) = d(k)

for k = 599,...,1144

i3(k-1145) = d(k)

for k = 1145,...,1690
And if an eTFI is included:

et(k-1691) = d(k)

for k = 1691,...,1693
And if a PAN is included:

pn(k-1691) = d(k)

for k = 1691,...,1715

And if a PAN and an eTFI are included:

et(k-1716) = d(k)


for k = 1716,...,1718
Next Modifications (DAS-12)

5.1a.23.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2027 information bits {d(0),d(1),...,d(2026)}. If the message delivered to the encoder does not include a PAN but includes an eTFI, it has a fixed size of 2030 information bits {d(0),d(1),...,d(2029).  If the message delivered to the encoder includes a PAN but does not include an eTFI, it has a fixed size of 2052 information bits {d(0),d(1),...,d(2051). If the message delivered to the encoder includes a PAN and an eTFI, it has a fixed size of 2055 information bits {d(0),d(1),...,d(2054).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k-3) = d(k)


for k = 3,...,52

i1(k-53) = d(k)

for k = 53,...,710

i2(k-711) = d(k)

for k = 711,...,1368

i3(k-1369) = d(k)

for k = 1369,...,2026
And if an eTFI is included:

et(k-2027) = d(k)

for k = 2027,...,2029
And if a PAN is included:

pn(k-2027) = d(k)

for k = 2027,...,2051

And if a PAN and an eTFI are included:

et(k-2052) = d(k)


for k = 2052,...,2054
Next Modifications (PACCH DL)

5.2
Packet control channels (PACCH, PBCCH, PAGCH, PPCH, PTCCH, CPBCCH, CPAGCH and CPPCH)

The coding scheme used for PACCH, PBCCH, PAGCH, PPCH, downlink PTCCH, CPBCCH, CPAGCH and CPPCH is the same as for CS-1 as specified in section 5.1.1.

In RTTI configuration, the channel coding for the downlink PACCH may also be the one defined for MCS-0 in subclause 5.1.4a.
The coding scheme used for uplink PTCCH is the same as for PRACH as specified in section 5.3.

In the case of a PACCH including an eTFI field (see 3GPP TS 44.060) the message delivered to the encoder will have a fixed size of 187 information bits {d(0),d(1),...,d(186)}. The first 184 bits will be protected by 40 parity bits as specified in section 4.1.2 a). The three bits {d(184),d(185),d(186)} are added bit-wise modulo 2 to the parity bits {p(0), p(19),p(38)}. This results in the forty modified parity bits {pt(0),…,pt(39)} defined as:

pt(k*19) = d(k+184) + p(k*19)

for k=0,1,2

pt(k*19+1) = 1 + p(k*19+1)

for k=0,1,2

pt(k) = p(k)






for k=2,…,18, 21,…,37
Four tail bits equal to 0 are then added to the information and modified parity bits as specified in section 4.1.2 with p(k) replaced by pt(k). Convolutional encoding, Interleaving and Mapping on a Burst then follows the process outlined in sections 4.1.3, 4.1.4 and 4.1.5 respectively
End of Modifications 
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